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Name:

Date:

Teacher:

Class:

Multiplication/Division 201

Why did the football coach go to the bank? To get a Quarterback!

Multiplication and Division

15+3=

6x3=

21 -3 =

7 x3=

18 -2 =

5x3=

12.

15.

18.

21.

24,

27.

30.

12 +3 =

10 x 2 =

24 - 3 =

4 x3=

10+2 =

1x2=

20+2 =

3x3=

16 -2 =

2x2=
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Score:
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13.

16.

19.

22.

25.

28.

3+3=1
5x2=10
12+2=6
9x2=18
4+2=72
8x2=16
18+3=56
6x2=12
30+3=10

3xXx2=6
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Answer Key

Date:

Teacher:

Class:

Multiplication/Division 201

Why did the football coach go to the bank? To get a Quarterback!

Multiplication and Division

15+3=5

6x3=18
21+3=7
/x3=21
18+2=9
8 x3=24
8+2=4
1x3=3
6+3=2
5x3=15

12.

15.

18.

21.

24,

27.

30.

12+3=14
10x2 =20
24 +3=28
4x3=12
10+2=15
1x2=2

20+2=10
3x3=9

16 +2=38
2x2=4
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Score:



